Opérations avec deux fractions propres (A)

Nom:

Date:
Calculez chaque résultat.
1.1 L T2 _
572 9 3
1,2 2.1
6 3 572
3_1 s 21
4 2 19 T3
3 _2 14 %+%—
7 7 3 9
L s 242
32 "5 -
2+1 16 2><2 =
5 5 373
1)(7 17 4)(2 =
279 575
1.2 11
8 3 2 4
2 1 o 2y 2
3 3 579
1.1 o Sx3 =
43 478

Note:
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Opérations avec deux fractions propres (A) Réponses

Nom:

Date: Note:

Calculez chaque résultat.
1.1 _1,.2_ 2 L T2 _ 1
5°2 571 5 9 3 9
1,2_ 2 L 2.1 2. 2 _ 4
6 3 6 52 571 5
s_1_ 1 w2l o2 3 b
4 2 4 19 "3 1971 19
3_2_ 1 w 2422 8
7 7 7 39 9
1,1_ 5 s 2,2 _ 4
32 6 55 5
2412 3 6 2x2 = 2
5 5 5 373 79
1l L R SVE. N
2779 18 575 25
1.2_13_3 s 11 _ 1
8 3 872 16 2 4 0 4
2 1 _ 1 y 2><2— 4
3 3 3 579 45
1.,1_1.3_3 w Sx3 - 2
43 471 4 478 0 32
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